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ENGLISH VERSION

From the following information of Akash Ltd. prepare the cash 20
budget for three months of April to June 2021.
(1) Cash and Bank balance as on 1-4-2021 was Rs. 60,000.

2

Month | Total Sales Total Wages Overhead
(Rs.) Purchases (Rs.) Expenses
(Rs.) (Rs.)
February | 6,00,000 3.00,000 1,20,000 1,12,500
March 4,50,000 2,70,000 1,08,000 97,500
April 6,50,000 3,30,000 1,44,000 1,27,500
May 9.00,000 4,80,000 1,50,000 1,42,500
June 5,00,000 2,40,000 1,26,000 1,12,500
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3)

(4)

&)
(6)

(7)

(8)

Assume : 40% of total sales are cash and 60% are credit
sales.

50% of credit sales are realized in the next month of sales
and remaining 50% in third month of sales.

The pay period given by traders is 1 month.

Overhead included depreciation of fixed assets of Rs. 22,500
per month.

The payment period of wages is 1 month and overhead
1/2 month.

Debenture interest of Rs. 37,500 is paid in June, 2021.
OR

1  Gagan Ltd. sells its products on gross profit of 20% on sales.

The following information is taken from its books of account for
the year ended on 31-03-2021.

No.

(1)
(2)
3)
(4)
(5)
(6)

(7)

(8)

9)

Particulars Amount (Rs.)
Sales : On 3 months credit........ccccovvvueeeeeeereeennnn. 60,00,000
Raw material ..........coeeeeiiiiiiiiiiieieeeeeeeeeeeee 14.40,000
Wages paid : Average time lag 15 days ............ 11,52,000

Manufacturing expenses : Paid after 1 month.... 14,40,000
Administrative expenses : Paid after 1 month ..... 5,76,000
Sales promotion expenses : Payable half-yearly

IN AAVANCE ..ottt 2,40,000
The company gets one month's credit from

suppliers of raw materials.

The company maintains 2-months stock of raw materials
and 1.5 months stock of finished goods.

The minimum cash balance is to be maintained at
Rs. 1,20,000 as precautionary measure.

Based on above information and assuming 15% margin, find out

working capital requirement of the company.

20
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2 The balance sheet of Vayu Ltd. is as under : 20
Balance Sheet
Liabilities Amount | Assets Amount
(Rs.) (Rs.)
Pref. share capital 3,50,000 | Fixed Assets 1,99.600
Equity share capital 2,50,000 | Share of subsidiary Co. 80,000
Share premium 56,100 | Receivable from
Profit and Loss Alc. 2,62,000 | subsidiary Co. 4,00,000
Divi. equalization fund 1,40,000 | Investment in
5% debentures 28,000 | Govt. Sec. 70,000
Creditors 3,82,000 | Stock 1,92.000
Unpaid dividend 500 | Debtors 6.,00,000
Bank overdraft 10,000 | Bank balance 20,000
Proposed dividend 34,000 | Preliminary expenses 5,000
Bills payable 54,000
15,66,600 15,66,600
Additional information :
(1) Reassessment value of fixed assets is decided at Rs. 3,63,500.
(2) Market value of shares of subsidiary company is
Rs. 1,00,000.
(3) Investment in Govt. securities is value at Rs. 78,000.
(4) Profit of the year before provision for tax is Rs. 3,00,000.
(5) Every year value of obsolete stock is Rs. 1,000 which is
written off.
(6) Additional depreciation of Rs. 11,400 on fixed assets is to
be debited due to replacement value.
(7) Last year profit of Rs. 5,000 is included in current year profit.
(8) Loss on sale of machinery Rs. 500 is debited to profit and
loss account.
Decide :
(1) ROR on total capital employed
(2) ROR on net capital employed
(3) ROR on shareholder fund
OR
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2 The balance sheet of Vyom Ltd. is under : 20
Liabilities Amount Amount | Assets Amount | Amount
(Rs.) (Rs.) (Rs.) (Rs.)
Opening Closing Opening | Closing
Share capital 50,000 50,000 | Fixed assets 80,000 | 60,000
Less : Dep. 28.000 [ 20.000
Reserve 23,200 20,000 52,000 [ 40,000
Loan 20,000 24,000 [ Investment 8,000 6,000
Creditors 25,800 5,000 | Stock 24,000 | 20,000
Debtors 14,000 10,000
Cash and bank 4,000 4,000
Other current
assets 5,000 5,000
Other Exp. 12,000 | 14,000
1,19,000 99,000 1,19,000 | 99,000
Additional information :
SaleS wuvveieiiiiiiiiieieeeeees 1,20,000
Interest ....ooeevveeeeeeiiiieeeeiieeeene 4,800
Dividend.......c.coeevveviiiiennnnns 10,000
Profit before int. and tax ....... 30,000
Tax reServe ...cccoevvvveeeenuveeenns 12,000

Calculate :

(1) ROR in net capital employed (Average)
(2) ROR on shareholders fund (Average)

3  The following information is related to the production of Vijay 15

Manufacturing Company Ltd.

Particulars First Year Second Year
Profit (Rs.) 20,000 28,000
Sales (Rs.) 2,00,000 2,40,000

From the above information calculate :

(1) Profit volume ratio

(2) Fixed cost

(3) Break even point

(4) Profit where sales is Rs. 1,80,000

(5) Required sales to earn profit Rs. 40,000

OR
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3 A, B and C are the three factories run under the same management. 15
The management wants to combine it into one unit. The detail of
which are as follow :

Particulars A B C
Production capacity 100% 70% 50%
Sales 3,00,000 2,80,000 1,50,000
Variable cost 2,00,000 2,10,000 75,000
Fixed cost 70,000 50,000 62,000

Find out the following details :
(1) Profit at 100% production capacity of factory A, B and C.
(2) Sales of combined units to earn profit of Rs. 28,000.

4  Write a short note : (any three) 15
(1) Scope of management control strategy
(2) Importance of management control strategy
(3) Factors affecting target cost
(4) Importance of government accounting system
(5) Duties of Comptroller and Auditor General of India..
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